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1. Overview

This document lists TTCN changes needed to correct issues in the ATS ‘iwd-TTCN3-B2017-06_D17wk37’.
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3. Correction related to TC 7.2.3.10
Change 1 – Correction to function ‘fl_TC_7_2_3_10_Body’
	Function name
	fl_TC_7_2_3_10_Body ()


	Reason for change
	R5s170572 introduced for Cat M1 operation a time spacing of 10 msec when transmitting multiple messages. However, this does not fit to the TC design (= overall timing calculation) as the start criterion for some timers did not consider the extra delay caused by modified timing.

	Summary of change
	Start criteria for timers updated and timers adjusted in steps 1A, 6A, 10 and 24A.
(See associated Prose CR)

	TTCN module
	RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before change

...
  function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@

    // @sic R5s100279 sic@ @sic R5-105016 sic@

...
    //@siclog "Step 1" siclog@

    // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.

    // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.

    //wait for 100ms for sync both in case of FDD and TDD

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1); // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 1A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s120345, R5-121869 sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 1B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

... 

    //@siclog "Step 6" siclog@

    // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474, R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 3;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU4);

    p_RLC_Rec.AM_VTS := 7;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU8);

    //@siclog "Step 6A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s170572 cat M1 timing sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 7A" siclog@

    // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 4 of the next SFN is employed

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                              15, 3, 10, 7);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@
...
    //@siclog "Step 9" siclog@

    // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300); // @sic R5s170572 cat M1 timing sic@

    v_SubFrameTimingT1 := v_Timing;

    p_RLC_Rec.AM_VTS := 10;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 12;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 18);  // @sic R5s110012 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10" siclog@

    // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.

    // 60 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before     v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 11;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s170572 cat M1 timing sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

...
    //@siclog "Step 24" siclog@

    // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 ); // @sic R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 15;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 16;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 17;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 18;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 24A" siclog@

    // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   15, 3); // @sic R5s110394 sic@

    //@siclog "Step 23" siclog@

    // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?

    p_RLC_Rec.AM_VTA := 20;

    v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);

    f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");

...
After change

...
  function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@

    // @sic R5s100279 sic@ @sic R5-105016 sic@

...
    //@siclog "Step 1" siclog@

    // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.

    // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.

    //wait for 100ms for sync both in case of FDD and TDD

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1); // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 1A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30); // @sic R5s120345, R5-121869, R5s17xxxx sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 1B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

... 

    //@siclog "Step 6" siclog@

    // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474, R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 3;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU4);

    p_RLC_Rec.AM_VTS := 7;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU8);

    //@siclog "Step 6A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 50); // @sic R5s170572 cat M1 timing, R5s17xxxx sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 7A" siclog@

    // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 4 of the next SFN is employed

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                              15, 3, 10, 7);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@
...
    //@siclog "Step 9" siclog@

    // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300); // @sic R5s170572 cat M1 timing sic@

    v_SubFrameTimingT1 := v_Timing;

    p_RLC_Rec.AM_VTS := 10;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 12;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 18);  // @sic R5s110012 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10" siclog@

    // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.

    // 60 + 10 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before @sic R5s17xxxx sic@

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 11;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s170572 cat M1 timing sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

...
    //@siclog "Step 24" siclog@

    // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 ); // @sic R5s170572 cat M1 timing sic@

    p_RLC_Rec.AM_VTS := 15;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 16;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 17;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 18;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 24A" siclog@

    // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 30 ); // @sic R5s17xxxx sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   15, 3); // @sic R5s110394 sic@

    //@siclog "Step 23" siclog@

    // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?

    p_RLC_Rec.AM_VTA := 20;

    v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);

    f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");
...
